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Questions 1-3 are based on the following information. Robinson Crusoe (RC) and Friday are the only inhabitants of Dream-Island. Consider the following series of transactions:

1. Friday catches 250 kg of fish and sells them to RC for 2000

2. RC uses the fish to make fish oil, which he sells to Friday for 2500

3. Friday uses the fish oil to make hand lotion, which he sells for 4500

1. Suppose these are the only transactions in Dream-Island , and that all of them take place in the year 2006. GDP in Dream-Island in 2006 is:

a) 2000

b) 2500

c) 4500

d) 9000

e) none of the above
2. Alternatively, suppose again that these transactions are the only ones in Dream-Island, but the first transaction takes place in 2006, while transactions 2 and 3 take place in 2007. GDP in Dream-Island in 2006 and 2007 respectively is:

a) 2000 and 2500

b) 2000 and 4500

c) 2000 and 7000

d) 0 and 4500

e) None of the above
3. Suppose again Friday sells 250 kg of fish to RC in 2006 for 2000 YTL. In 2007 RC imports some exotic flavors for 250 YTL from REAL-Dream-Island, a neighboring island. Using these flavors RC makes a higher quality fish oil and sells to Friday for 2750 YTL. (in 2007) Using this fish oil Friday makes hand lotion and sells it to RC for 4750 YTL. (in 2007). GDP in Dream-Island in 2006 and 2007 respectively is:

a) 2000 and 2500

b) 2000 and 4750

c) 2000 and 2750

d) 0 and 4750

e) None of the above
4. Suppose the Banking Regulatory Agency increases reserve requirements, thus causing the reserve-deposit ratio to rise. What effects will this have on the money multiplier and the money supply, respectively?

a) increase, increase

b) decrease, decrease

c) increase, decrease

d) decrease, increase

e) no change, decrease

Questions 5-6 are based on the following information:

Currency (CU) = 300

Reserves (R) = 200

Deposits (D) = 1000

5. What is the value of the monetary base(H)?
a) 200

b) 300

c) 500

d) 1200

e) 1500

6. What is the value of the money supply?
a) 300

b) 500

c) 1200
d) 1300
e) 1500

7. Suppose nominal GDP in 2005 increased by 5% (over its previous level in 2004). Given this information, we know with certainty that:  

a) both the GDP deflator and consumer price index have risen.   

b) real GDP increased during 2005.   

c) nominal GDP is higher in 2005 than in 2004

d) if GDP deflator  increased, real GDP must have risen.

e) none of the above.

8. The IS curve will shift when which of the following occurs?  

a) a reduction in government spending  

b) an increase in marginal propensity to save
c) an increase in marginal propensity to consume
d) all of the above  

e) both (a) and (b) are correct
9. Which of the following events will most likely cause a reduction in the money supply?   

a) a decrease in the ratio of reserves to deposits  

b) a central purchase of bonds  

c) a shift in public preferences away from checkable deposits toward currency

d) all of the above  

e) none of the above

10. Which of the following event(s) will cause the interest rate to decline in the short run?  

a) an increase in income   

b) a central bank purchase of bonds   

c) an increase in the reserve deposit ratio 

d) all of the above  

e) both (a) and (c) are correct

11. Seignorage is defined as which of the following? 

a) the part of a budget deficit financed with foreign lending 

b) revenue from money creation

c) the part of a budget deficit financed by the issuance of bonds sold to the private sector

d) the increase in income tax revenues that occurs as a result nominal income tax brackets not being adjusted to changes in

e) the increase in income tax revenues that occurs during a hyperinflation

12. An increase in the minimum wage will tend to cause which of the following?  

a) an upward shift(to the right) in the WS curve   

b) a downward shift (to the left) in the WS curve   

c) an upward shift(to the right) in the PS curve

d) a downward shift (to the left) in the PS curve

e) none of the above  

13. Assume the economy is initially operating at the natural level of output. Now suppose a budget is passed that calls for a tax cut. This fiscal expansion will, in the medium run, cause an increase in:
a) output.

b) the interest rate.

c) consumption  

d) investment

e) all of the above

14. Assume the economy is initially operating at the natural level of output. Now suppose a budget is passed that calls for a tax cut. This fiscal expansion will, in the short run, cause an increase in:
a) output.

b) the interest rate.

c) consumption  

d) all of the above

For this question, assume that the Phillips curve equation is represented by the following equation: 
πt - πt-1 = (μ + z) - αut. Given this information, the natural rate of unemployment will be equal to:  

e) (μ + z)/ α

f) α(μ + z).

g) μ + z

h) (μ + z - α).  

i) none of the above  

15. Which of the following would be most likely to cause a change in the natural rate of unemployment?

a) changes in monetary policy  

b) change in unemployment benefits
c) changes in fiscal policy  

d) changes in the percentage of labor contracts that are indexed

e) none of the above

16. In the medium run, a rise in nominal money growth from 3% to 8% will cause the unemployment rate to: (assume α is 1)

a) decrease by 5%.

b) remain unchanged.

c) decrease by 3%.  

d) increase by 5%.

e) Given information is not enough

17. Suppose a central bank announces a reduction in money growth. Also assume that there is complete credibility in this action and wages and prices are not completely flexible. Given this information:

a) output growth will exceed normal output growth during the adjustment.

b) output growth will be lower than normal output growth during the adjustment.

c) unemployment rate will exceed natural rate of unemployment during the adjustment

d) (b) and (c) are correct

e) None of the above.

18. The ratio of a country's exports to its GDP must:  

a) be less than one.   

b) be greater than one.   

c) equal the ratio of imports to GDP.   

d) be larger than the ratio of imports to GDP.   

e) none of the above 

19. Suppose you have one YTL with which you wish to purchase U.S. (one-year) bonds in period t. Which of the following expressions represents the amount of YTL you will receive in one year (i.e., period t+1) from purchasing U.S. bonds in period t?  (i* is the interest rate on US bonds and i is the interest rate on Turkish bonds.)

a) i   

b) (1 + i*)Et/Et+1   

c) (1 + i*)Et+1/Et   

d) 1 + i*   

e) none of the above
20. Suppose the domestic interest rate is 6% and that the foreign interest rate is 3%. And finally, assume that the domestic currency is expected to depreciate by 4% during the coming year. Given this information, we know that:  

a) individuals will be indifferent about holding domestic or foreign bonds.   

b) individuals will only hold foreign bonds.   

c) individuals will only hold domestic bonds.
d) local investors will only hold domestic bonds while foreign investors will only hold foreign bonds

e) none of the above   

21. Which of the following would cause an increase in the quantity of imports?  

a) a reduction in domestic output  

b) an increase in domestic output
c) an increase in foreign output  

d) all of the above 

e) both (a) and (c) are correct

22. Suppose there is an increase in foreign output (Y*). This increase in Y* will cause which of the following in the domestic country?  

a) an increase in net exports  

b) an increase in consumption  

c) an increase in output  

d) all of the above  

e) none of the above 

23. Which of the following is true when a county is experiencing a trade surplus (NX > 0)?  

a) A budget deficit exists.   

b) Demand for domestic goods is greater than the domestic demand for goods.   

c) Demand for domestic goods is equal to the domestic demand for goods.   

d) Demand for domestic goods is less than the domestic demand for goods. 
e) Central Bank should purchase bonds 

24. For this question, assume that investment spending depends only on the interest rate and does not depend on output. Given this information, a reduction in the money supply

a) will have no effect on output in the short run

b) will cause investment to increase in the short run

c) will cause investment to decrease in the short run 

d) will cause investment to decrease in the medium run 

e) Both (c) and (d) are correct.

